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ENGLISH VERSION

Instructions: (1) As per instruction no.1 of Page no.1.
(2) Question number one is compulsory.

(3) Figures to the right indicate full marks of the question.

1. Answer the following questions :
a) Shri Hemant is the Karta of a Hindu Undivided Family. Its other members are his wife and
two sons, The taxable income of the family from interest on bank deposits was Rs 2,80,000
You are required to : 05

® Compute the tax payable by the family for the assessment year 2014-15 There is no
other income of the members of the family. .

(i) Had whole of the Hindu Undivided Family property been partitioned on 1"
December, 2013 how much tax would have been charged on the income of the family
and from whom it would have been collected? The interest has been earned equally
every month

(b)  Thetotal income of a co-operative society for financial year ending 31-3-2014

under various heads is as under: 05
Rs.
1 | Banking Business : 15,000
2 | Income from cottage industry 21,000
3 | Profit of business 75,000
4 | Interest and dividend from other co-operative society | 18,000
5 | Income from collective disposal of labour 16,500

Determine the total income and tax payable by society for assessment year 2014-15
2 (A)A Firm comprising of four Partners A, B, C and D, carrying on business in partnership,
sharing profits / losses equally shows a profit of Rs.1,62,500 in its books after deduction of the

following amounts of the year : _ 09

Rs.

(a) Remuneration to partner ‘A’ who is not actively engaged in business 78,000

(b)  Remuneration to partners ‘B’ & ‘C’ actively engaged in business:

Partner ‘B’ 97,500
. Partner *C’ 1,17,000
(c) Interest to partner ‘D’ on loan of Rs.2,43,750 58,500
The deed of partnership provides for the payment of above remuneration and interest to
partnets. You are required to work out the taxable income & tax of the Firm. for A.Y 2014-15.
B) Who are “ prohibited/restricted persons “ u/s 13(3) ? 04
OR
2 The profit as per P & L A/c of an AOP is Rs. 5,40,000. The salaries and interest paid to the
members are as follows- 13

Members (Individuals) | Salaries | Interest
Mr. X : 80,000 NIL
Mrs. Y 1,20,000 | 40,000
Mr.Z(Senior citizen) 40,000 | 80,000

Expenses of Rs. 80,000 are disallowable u/s 40A. The details of the members of the
AQP are as follows —

Members | Other incomes | Share in AOP
Mr. X 1,40,000 20%
Mrs. Y 1,70,000 30%
Mr.Z 2,05,000 50%
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4.

Compute the total income and tax liability of AOP and the total income and tax liability of its
Members for the A.Y 2014-15 on the basis of above data.

Determine the tax liability of XY Trust (individual share of beneficiaries is not known ) for the
assessment year 2014-15 , if its income during the previous year is 13
(a) Rs. 2,10,000
(b) Rs. 11,50,000
Make the following assumptions;
1. If none of beneficiary is a beneficiary under any other trust and has income exceeding
Rs. 2,00,000
2. If one of beneficiary is also a beneficiary under another trust or has income exceeding

Rs. 2,00,000
' OR
During the previous year 2013-14 .a charitable trust derived the following income; 13
Rs.
1. Voluntary Contribution: 41,10,000

(Out of which Rs. 20,90,000 is with specific direction that it shall
form part of corpus of the trust.)

2. Income from property held for charitable purpose 2,00,000
During the previous year 2013-14 , the trust spends Rs. 2,19,610 (it includes a sum of Rs. 10,000
donated to a charitable trust ) and sets apart Rs. 7,46,000 for the purpose of construction of a
charitable hospital up to March 31, 2018.

Determine the taxable income of the trust on the assumption that out of the accumulated
amount of Rs. 7,46,000 the trust utilizes Rs. 4,65,000 up to March 31,2019 for the construction
of a charitable hospital. Further out of the accumulated amount of Rs. 7,46,000 a donation of

Rs.1, 00,000 is given to another trust.
Compute the taxable income of the trust for the year A.Y . 2014-15 and A.Y . 2019-20.

Write Short Notes: (Any Two) 14

1. Special deductions available for Co-operative society u/s 80P

2. Condition for Registration of charitable trust and power and duties of the CIT in relation to
Registration of trusts u/s 12A &12AA.

3. Discuss the provisions of assessment of Income of an AOP

4. Exemption of capital gainin case of Charitable Trust
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